


The "safeguards" statement. reproduced
cordance with Underwriters Laboratories
Siieiv, UL 122, Photographic Equipment'"

current rating should be used. Cords rated lor less
iiibiliiqJihin the appliance mav overhe.at Care should
# iuk;i  t , i  u; ianse ihe cord so that i t  wil l  not be tr ipped
over or Pul led.

7. Always unplug appliance f rom electr ical outlet when not
in ui6. Never"vahk cord to pull  plug from outlet Grasp
plug and Pull  to disconnect.

B. Let appliance cool completely before putt ing away' Loop
cord ldosely around appl iance when. stor lng'

g. io pioiect 'against eidctr ical shock hazards' do not
- ir t i tse this "appliance in water or other l iquids'

10. To avoid electrtc shock hazard, d9 n9t disassemble this
' -  

anoi iance, but take i t  to a qual i f ied serviceman when
i5fi ie service or repair work is required lncorrect re-
lssemblv can caus6 electr ic shock hazard when the ap-
ol iance i-s used subsequentlY.

SAVE THESE INSTRUCTI(INS
@ Coovrtqhted Underwri ters Laborator ies

"standard i r i i  satetv,  tJL 122, Photographic Equipment"

below is in ac-
"Standard lor

IMP(IRTAiIT SAFEGUAROS O

CONTENTS
l .  Components ano Controls '  ' '  1
f  l .  Assembly lnstruct ions .  .  . .  "  "2
i i i .  op" i" i i "nal  Famil iar izat ion '  '?
iV.  ob"r" t ion Guidel ines. . . . .  """  3

v.  nObit ional  Appl icat ions. .  " ' ' ' '  "  5

vi .  nr ignment Procedures. ' .  """ '6
Vl l .Maintenance. "" '8
isvx l l  Accessor ies. . .  " ' ' "8
fxpioOeO View . 9-10
Parts l is t  """ '11
WaiLntV and Service lnformation '  " '  Back Cover

When usrnq your photographic equipment ' .  bastc.safety
or.. i i , t io* t"r,dulu aiwaysbe iol lowed. including the f ol low-
Ing:
1.  Read and understand al l  instruct ions'
2. Close supervision is necessary when any appl iance is
- 

, . i t  nv br near chr ldren. Do not leave appl iance unat-
tended-whi le in use.

3.  Care must be taken as burns can occur f rom touching hot
parts.

4. Do not 0Derate appl iance with a damaged cord or i f  the
'  

; ; r ; i ; ; ; ; -niJue'en dropped or damasbd - unt i l  i t  has
bbbn examined by a qual i f ied servtceman'

5. Do not let  cord hang over edge of table or counter 0r
touch hot sur{aces.

6. l f  an extension cord is necessary, a cord with a sui table

SPECIFICATIONS
Height (Ful lY extended):

-Condenser Lamphouse - 571/2" (146cm)
Colorhead - 54Y; '  (138cm)
Colorhead with Condenser -  591/2" (51cm)

Baseboard: 25t1r" (65cm) x Z0s1u" (52cm)

Lamp: PH212, 150W,'1 15V

Shipping Dimensions : 491/2" (1 26cm) x 263/q" (68cm)

x 16112" g2cm)

Shipping Weight:80 lbs.  (36'3 kg)

INTRODUCTION
Congratulat ions on your purch".?".  9f  one of the

rort"  pt" t t ig ious enlargers avai lable today'  the
g"; f" ,  4sfvl 'X l l .  Designed around a br idge-l ike
gird" i t t " tework,  th is enlarger can provide qual i ty

5nlargements,  even at  maximum magnif icat ions'
vour"+sHl lx i t  of fets many outstanding'  useful

t"" tut" t ,  each ful ly descr ibed in this instruct ion

manual.  These features wi l l  enable you to pursue

neir fy any pr intmaking process or innovat ive tech-

nique imaginable.

Opt ical ly and mechanical ly,  the Beseler 45MX l l  is

the proier companion to your f ine photographic

and darkroom equipment.  You can be assured that

Vour ASITI|X l l  enlarger wi l l  provide years of depend-

ible service when properly operated'

In order to gain the fu l l  advantage of  the many

iharacter ist ics incorporated into the 45MX l l  en-

larqer,  p lease caref  u l ly  read this instruct ton manual '

i i  i i  
" i t "  

suggested that the manual be made avai l -

able to al l  persons using the enlarger '



12
20
6

12. NEGATIVE STAGE LOCK Secures
stage at selected height.

13. UPPER BELLOWS Ailows neoative
stage to handle any size negativdfrom
8mm to 4" x 5".

14. LAMPHOUSE SUPPORT STAGE Ac-
cepts any of the interchangeable 45M
series i l lumination systems, without
the use of accessories or adapters.

15. LAMPHOUSE LATCHES Sebure i t-
luminat ion system f i rmly in place.

.16. CONDENSER ASSEMBLY Inctudes
two 61/2" optical glass condensers and
color f i l ter drawer-*17. FILTER DRAWER Holds Beseter 6" x
6" color pr int ing f i l ters.

-18. LAMPHOUSE ASSEMBLY Contains
socket and PH212,150W tamp.

.19. LAMPHOUSE CAP Easi lv removabte
to quickly change lamps.-

20. LATERAL ADJUSTMENT SCREW
Locks enlarger head in place at any
desired posit ion along the carr iage.

21. PIVOT BOLT In coniunct ion wi th
locking bol t ,  a l lows eniarger head to
pivot  15'  in ei ther direct ion to control
distort ion.

22. MAcNIFICATION SCALE Reference
scale for  determining magnif icat ion in
repeil i lve pf lnttng.

23. MOTOR BOX Moves enlarqer head uo
or down for changes in ma-gnif icat iori .

24. CONVENIENCE OUTLET To provide
current for any Beseler 45 series
i l luminat ion system.

25. MANUAL ELEVATION CONTROL
Permits precise control of magnif ica-
i lon.

26. ELEVATION SWITCH Act ivates
motor; also acts as reference indica-
tor for magnif icat ion scale.

27. NEGATIVE STAGE GUIDE Has qrad-
uations from 35mm to 4" x 5" t6 ac-
curately posit ion the negative stage
for each size negative.

28. VERTICAL STOP/ALIGNMENT AD.
JUSTMENT NUT Acts as enlarqer
head stop when pivoting from ship-
ping to operational posit ion; helps ad-
just . for perpendiculari ty of enlarger
head to baseboard.

-Avai lable as optional condenser lamp-
nouse.

o

10

I .  45MX I I  ENLARGER
COMPONENTS AND
CONTROLS
' t .  FRAME Uses tr iangular truss con-

struct ion to minimize vibrat ion and
provide sharp prints.

2. BASEBOARD 25y2" x 303/a" for targe
on nts.

3. ACCESSORY FILTER HOLDER Ac-
commodates red safe, variable con-
trast, soft focus and other f i l ters.

4. FOCUSING KNOB Permits teft  or
r ight hand focusing for operator con-
venrence.

5. FOCUSING BRAKE Permits lens
stage to be locked in place for ac-
curate focusing.

5.  LOCKING BOLT In coniunct ion wi th
pivot bolt .  al lows enlaiger head to
pivot 15o in either direct ion to control
distort ion.

7. LENS STAGE Takes standard 4" x 4"
lens board; pivots 15" in either direc-
t ion to help control  d istort ion.

L LOWER BELLOWS Provides extra-
long extension to al low reductions to
1:.75.

9. NEGATIVE STAGE Accommodates a
wide selection of accessory negative
carr iers,  the Neqatrans@'and the
Neoaf lat.

10. NE-GATIVE STAGE LEVER Opens and
closes negative stage.

11. NEGATIVE STAGE ADJUSTMENT
KNOB Raises or lowers heiqht of neo-
ative stage to match each si ie negati ie
useo.

16
15

27

14

23
24
4

Figure 2



l l .  45MX i l
ASSEMBLY INSTRUCTIONS
Your Beseler 45MX l l  enlarger requires very l i t t le
assembly,  so i t  should only take a few minutes to
get set  up to make large, sharp pr ints.  You wi l l  need
wire cut ters to aid in unpacking the enlarger and a
#2 or #3 Phi l l ips head screwdriver to assemble i t .
The parts bag fastened to the enlarger head con-
tains the fo l lowing i tems:

4 pan head machine screws
4 f lat  head machine screws
1 red safety f i l ter

Assemble the enlarger as fo l lows:

A. Remove the enlarger from the packing carton.
You wi l l  f ind that  the enlarger head is in an inverted
(shipping) posi t ion and secured in place with
straps. Do not remove the straps unt i l  you have f  ul ly
assembled the enlarger.

B. Place the enlarger on i ts back on a sui table f lat
surf  ace.

C. Using two pan head screws, attach the r ight
baseboard angle to the enlarger base (see Fig.  3) .
Insert  screws hand t ight.  Repeat the procedure on
the lef t  s ide.

I I I .  OPERATIONAL
FAMILIARIZATION
The Beseler 45MX l l  is composed of s ix basic sys-
tems i l luminat ion system, elevat ion control
assembly, negat ive stage assembly, lens stage as-
sembly,  d istort ion t i l t  assembly and chassis -  each
of which is descr ibed below.

D. Careful ly l i f t  up enlarger to upr ight  posi t ion.

E. Remove baseboard from l iner and place on
baseboard angles. Make sure the countersunk holes
in the baseboard face up.

F. Insert  the four f lat  head screws into the base-
board and hand t ighten. After al l  angle and base-
board screws are in place, t ighten f  i rmlywith screw-
d r iver.

G. Use the wire cutters to remove the straps from
the enlarger head. Slowly pivot the head to i ts
operat ional  posi t ion.

H. l l luminat ion System - lnstruct ions for  instal l ing
the Dichro 45 Color Computer and the Point  L ight
Source are contained in their  respect ive manuats.
The procedure for instal l ing the Condenser Lamp-
house is as fol lows:

1. Make sure the latches on the support  stage are
pul led forward (Fig. a).

2.  Remove condenser lamphouse from carton
and place on support  stage, making sure the
bottom of the condenser sl ips into the opening
of the support  stage.

3. Push back latches to secure the condenser
lamphouse assembly.

4.  Insert  lamphouse plug into "enlarger" out let  on
your t imer.

A. l l luminat ion System
Beseler makes three interchangeable i l luminat ion
systems for the 45MX l l .

1.  Condenser Lamphouse System includes the

Figure 3 Figure 4



lamphouse and the condenser assembly with
integral  f i l ter compartment.

2. Dichro 45 Color Computer, a solid-state,
microprocessor-based dichroic f i l ter color-
head, incorporat ing sel f-contained, stabi l ized
power supply and cool ing system. Can be used
with or without condenser assembly. Detai ls
ful ly explained in separate manual.

3. Point Light Source System (lamphouse and
transformer),  for extremely br i l l iant i l lumina-
t ion at high contrast.  Requires condenser
assembly. Detai ls ful ly explained in separate
manual.

The condenser assembly, which is used with al l
three i l luminat ion systems, houses the heat absorb-
ing glass and the lenses which focus the l ight rays
to produce Beseler 's exclusive "Cone-of-Light"
i l luminat ion. Also incorporated in this assembly is
the color f i l ter compartment and i ts f  i l ter holder,  for
support ing color pr int ing f i l ters and variable con-
trast f i l ters.

The lamphouse support  stage readi ly accom-
modates the condenser assembly or the colorhead.
The condenser or colorhead is securely fastened to
the support  stage by the support  stage latches.

B. Elevation Control Assembly
The elevator motor/control box affixed to the en-
larger carr iage can be used to raise or lower the en-
larger head to the desired magnif icat ion level.  A
three-posit ion momentary switch is used to act ivate
the motor;  top posit ion to raise the head; bottom
posit ion to lower; and middle posit ion is off .  Stop
pins at the upper and lower ends of the carr iage's
vert ical  t ravel automatical ly throw the motor switch
into the off  posi t ion. The manual elevat ion knob on
the motor box provides f ine elevat ion controlwhen
extremely smal l  changes in magnif icat ion are de-
sired.

The elevat ion scale, on the r ight s ide of the en-
larger frame, aids in determining the enlarger head
height when addit ional enlargements of the same
size are desired at a later date. The motor switch
acts as the scale indicator.

The grounded convenience out let  on the motor box
provides electr ic i ty for the lamphouse, color head,
Resistrol  or t imer,  depending on the power hookup
sequence being employed.

C. Negalive Stage Assembly
The Negat ive Stage Assembly accommodates the
opt ional negat ive carr ier,  Negatrans or Negaf lat .
The negat ive stage is opened by pushing down-
ward on the negat ive stage lever.  Locat ing pins on

IV.  OPERATION GUIDELINES
The correct size negative carrier, appropriate lens
and negative stage position must be selected to
match the negative size from which you wish to
print. Table I shows which lens and which negative

the under side of the negat ive carr ier,  Negatrans or
Negaf lat  aid in posit ioning on the negat ive stage.

The posit ion of the negat ive stage relat ive to the
condenser lenses is important when using the con-
denser lamphouse. The negat ive size indicater and
negat ive stage lock can help you determine and
hold in place the sett ing to match your negat ive.

D. Lens Stage
The lensboard with lens attached (both avai lable
separately from your Beseler dealer) is held in place
by the lens stage. Note that the bottom of the lens
stage has two retaining str ips, at  the front and the
rear,  which hold the lens board in place. With the
back edge of the lens board t i l ted upward, insert
the back edge of the board into the groove above
the rear retaining str ip.  Push the lens board back
into the groove and raise the front edge unt i l  the
board is level.  A leaf spr ing in the rear groove wi l l
push the lens board into the groove above the front
retaining str ip and hold i t  in posi t ion. Make sure
that the board is securely held at both front and
rear. To remove the board, reverse the procedure.

The lens stage can be raised or lowered on the
focusing rack by turning the lef t  or r ight focusing
knob. The lens stage brake can be t ightened to hold
the stage in the focused posit ion.

The lens stage pivots 15o to the lef t  or r ight to aid in
correcting distortion in a negative or to create in-
terest ing effects.  The pivot ing act ion is used in con-
junct ion with the distort ion t i l t  assembly, explained
in paragraph (F) of this sect ion.

The accessory f i l ter holder is af f ixed below the lens
stage, and accommodates red safety, variable con-
trast, soft focus and other filters up to 23/8" square.
Remember to swing f i l ter holder out of  the l ight
path when f i l t rat ion is not required.

E. Chassis Assembly
This assembly consists of the baseboard, t r iangular
truss frame and the carr iage, on which the enlarger
head is mounted. The tr iangular truss construct ion
helps provide sharp pr ints by vir tual ly el iminat ing
vibrat ion from the enlarger structure. The carr iage
moves lateral ly,  which: permits the simultaneous
use of two 8"x10" easels; allows only part of an
image to be shown on an easel fixed in place; or
assists in locat ing the image on the easel when
using the distort ion control  feature.

F. Distortion Tilt Assembly
The ent ire enlarger head may be t i l ted up to 15o lef t
or r ight when i t  is desired to correct or al leviate
distort ion in the negat ive. The distort ion t i l t  may
also be used to create distort ion for unusualeffects.

size indicator sett ings go with each size negat ive.
Your Beseler dealer offers a complete l ine of lenses,
negat ive carr iers,  Negatrans and Negaf lat  for your
Beseler 45MX l l  enlarger.



NEGATIVE
SIZE

8mm
16mm

NEGATIVE SIZE
INDICATOR SETTII

35mm

RECOMMENDED LENS
FOCAL LENGTHS

25mm
or

35mm

APPROXIMATE BASEBOARD--MAGNIFICATION RANGE
MAXIMUM MINIMUM*

34X 12X

27X 1OX

17X 6X

11.75X

11X

9.25X

7.5X

55X

6X

5X

3.75X

3.5X
3X
2X

.75X

1X

110 tormar

35mm
126 format

131q" x 2%" (6x6cm)

21/4" x 2114" (6x4.5cm)

21/d" x23/4" (6x7cm)

21/o" x 3fo" (6x9cm1

3l+" x 4t l4" (8x11cm)
9 x 12cm

4" x5" (1Ox13cm)

35mm 50mm

2t1o x 21/+
75mm

or
80mm

2t1o x 31/+ 9Omm
105mm2t1o x 31h

3t1o x 41/+ 135mm

135mm
or

150mm

4x5

herelore, the

4sMx rr oPERATTART.i'"ELrNEs DArA

{
I
1

f f i rheads,theupper.be||owSmuStremainful |ycompressed(4' ,x5,,posi t ion).Therelore' Ine
maqnifications ootainaor-e'io-r-riimei, dlrpr_,rlri;'^t,; 

*irr r" artbreo, irri*rriot sreiter masnifications than

when used in condenser conf iguration. l f  r t  rs Oesrrei to mafe smaller size pt init '  t i tpf y-" levate the easel above the

;;LA;;;; oi *" rons"' rocal lensth lens'

A. Negative Stage Setting --^r:.
6;;;;;;ri"tins,lou mus-t set the ne.sative stase to

in" 6[F"i iieigfit to Jrovi{g 9"9n-illll'nation for

the negativ" you u'" 'ul ing' This is acc.omplished by

turning the negattve sGg6 aoiu:l t-" l t ]1r ob (Figure

i l l i" t"r r ) unti i  the corr6ct posit ion is-shown on the

"L"li i"" 
3t"te suide (Fisure z':t:\3!.,rhe nesa-

ffi.l; i lff ixirigu'5 tl item 12) should be tight-
ened so that no tou"rn"nt of  the stage'occurswhi le

;oiii!'rnar.ins other adjustt".!!?: Five positions

li" i^r""tlo"o o-n tne n"gitiue tlqsg qy!d"' Table I

i l i i""i"t *nich settingsiover which size negatives'

B. Lens Selection
;h"-E;J;r 45MX ll a"commodates most anv brand

;i ;"";rgi"t lens having a focal l-ength fr.om 50mm to

150mm. Your Beseiertealer can show you which

Beseler accessory lensboard wil l  match your

l"'f"""r"d Lnt Sotit" short focal length lenses re-

quire speciat ,"""tt60 iens boards in order to focus

proPerlY'

The correct focal length depends.on the size of the

#;"ii";. u;" oi t''" ilrrone rocaiillgll mav cause
u,g;at ing at the corners ot tne proiected image or

inabi l i ty to focus tn" i t "g" atthe'desired magnif ica-

t ion.

C. Magnification (Reductlon) - :^
The size of the pio1; i t"o image- is determined

orincipal ly Uy tne'Oi i tance between the negat ive

i l ; i r i ; ; te i '  nn increase in the distance vields an

enlargement of increased dimensions' .A decrease

in distance resulrs in 
"n 

enlargement of smal ler

; i t ; ; ; i ; ; ; ,  and then a reduct ion (depending on

lens;.
Approximate magnif icat ion ranges- on the base-

;#;; i;t aittereni siie nesatives are 9lyen in Table

l .  The data corresponO tdthe recommended lens

i"J"i"r*din;1;;ih; *sative siz-es indicated' but

;ff;;; i i lo i i l t possiuie to obtain masnification
ranqes outslde ,no""-tho*n by experimenting with

;l#;-t6;,iue stage positions' lelrs focal lengths

lnO raisi ig the easel of f  the baseboaro'

Projecti n g an I mage . 1a1i no- f!-e^]1"^:I""' 
d i men-

sions of the negarrr ie (1:1) requires caref ul  manipu-

i;;;;;; ine ere"uation tonirot (risu.re'1 '.item 26) and

the focusing knob ( i ig; ;  t  '  i iem 4) '  l t  is suggested

i'n"t u"rlitJt ao;usitrrt height of lh-e 9;larger 
head

i;il"i;;t;;6;tive stage to easel surface distance

i."i;;;;;i;"t6rv tJ*i'ines the rocal lensth or the

lens (example: rI using a t!0111:.1t;^th" distance

il;i; b; 'oootti' N"ext' focus the imase on the

""JJilt 
tn" projecied dtmensions are close to those

;ffi; n"giiu", uui tne image cannot be focused'

raise the 
"nru'g"i-rt"ao 

stigifrtty' and refocus the

image.

Reduct ions are simi lar ly attained' .  but may requlre

ie"n:;;;j i;ng"' to;"l i"'ngtnt or elevatins the easel

from the baseboard'

il

!



Negative Slage

Baseboard

------\--:-SX
Figure 5

V. ADDITIONAL
APPLICATIONS
A. Color Enlargements
Your Beseler 45MX l l  can help you make beaut i ful
color enlargements,  using ei ther the Dichro 45
Color Computer (catalog #8282) or the Cotor by
Beseler Color Print ing Fi l ters (catatog #8933).  In-
struct ions for  using ei ther of  these color pr int ing
methods are packed in their  respect ive cartons.

B. Repetitive Printing
The 45MX l l  enlarger offers a host of  features that
makes repet i t ive pr intmaking, ei ther dur ing a s ingle
session or at a later date, m uch easier.  When making
several  consecut ive copies of a pr int ,  i t  is suggested
that you set the focus lock (Figure 1, i tem 5) to
ensure sharp pr int  af ter pr int .

The magnif icat ion scale (Figure 2,  i tem 22) on the
enlarger f  rame can help you dupl icate your results
at a later session. After you create a pr int  with
which you are sat isf ied, you should not only record
the f-stop and exposure t ime, but the reading be-
hind the motor switch on the magnif icat ion scale.
(The increments on the scale aretor referenceonly,
and do not indicate actual magnif  icat ions.)  The next
t ime you wish to dupl icate th is pr int ,  s imply raise or
lower the enlarger head to the same reference point
and focus the image. Of course the negat ive stage
sett ing and the lens size must be the same as
or ig inal ly used.

C. Distortion Control
Distort ion correct ions,  such as converging paral le l
l ines in archi tectural  photographs, can be readi ly
made on the baseboard with the 45MX l l  enlarger.
You can get a sharply focused image throughout the
picture area or create special  distorted effects by
using the distort ion control  adjustment,  in con-
junct ion with the pivot ing lens stage.

In order to control  (or create) the distort ion and
achieve overal l  image focus, the negat ive stage, the
lens stage and the easel must be arranged in such a
way that their  surface planes cast imaginary l ines
that would converge at  a common point .  Figure 5

Figure 6

i l lustrates th is pr inciple.  You could use three very
long straightedges to adjust the angles so that the
l ines from the three planes converge, but the
method out l ined below is probably most pract ical .



I

1.  Set the magnif icat ion and roughly focus the
projected image.

2.  Use a box or open end wrench to loosen the
pivot ing 1s7,u" head) and locking (%0") bol ts
( i tems 47 and 70 on the exploded view).

3.  Pivot  the ent i re enlarger head (Figure 6) unt i l
the desired degree of distort ion or control  is
achieved. Tighten both bol ts to minimizevibra-
t ion.

4.  Simultaneously pivot  the lens stage and adjust
the focus knob to br ing the corrected image
into focus.t

Once you have f in ished pr int ing distort ion con-
trol led images, you should return the lens stage and
the enlarger head to their  or ig inal  posi t ions.  The
lens stage has a detent which wi l l  hold the stage
perpendicular when you pivot  back to the or ig inal
posi t ion.  To make sure the enlarger head is per-
pendicular to the baseboard, fo l low the al igment
procedure in Sect ion Vl .
D. Oversize Prints
For enlargements exceeding the size possible on
the baseboard, the 45MX l l  can be adapted for pro-
ject ion through the base frame. Simply remove the
four Phi l l ips screws holding the baseboard in place,
remove the baseboard and place the enlarger on
two tables, leaving an open space between the
tables to al low the projected image to pass through
the frame and to the f loor.  Clamp the enlarger to
the tables to ensure opt imal stabi l i ty .  Magnif ica-
t ions can be var ied by using the elevat ion control
or propping up your easel  on a box orothersui table
level surface.

E. Lateral  Adjustment of the Enlarger Head
A unique feature of  the 45MX l l  enlarger is an adjust-
ment al lowing side to s ide movement of  the enlarger
head on the carr iage tubes (Figure 7).  This lateral

Footnote 1:  Remember that  opposi te ends of  the image wi l l  be at
di f ferent magnif  icat ions,  and you wi l l  need to ei ther burn in the
area furthest f rom the lens or dodge the area closest to the lens.

VI.  ALIGNMENT
PROCEDURES
Your Beseler 45MX l l  is  inspected and completely
al igned before i t  leaves the factory. However,  im-
proper handl ing and the use of  the distort ion con-
trol  assembly may require real ignment of  certain
componenrs.
A. Carr iage Al ignment
Rough treatment whi le movingthe45MX l l f rom one
locat ion to another might cause a carr iage gear to
jump a tooth on the elevat ion rack,  knocking the
carr iage out of  a l ignment.  Correct  as fo l lows:

1.  Remove i l luminat ion system and condenser
assembly.

2.  Remove the lower stop pin ( i tem 164 on the
exploded view) from the frame.

3.  Slowly run the carr iage assembly down the

movement is useful  when i t  is  desired to enlarge
only a port ion of  a negat ive wi thout disturbing the
posit ion of the easel.  To operate the lateral  adjust-
ment,  loosen the carr iage lock knob ( i tem '101 on the
exploded view drawing) and move the enlarger head
to the desired posi t ion.  For most other pr int ing
operat ions, the carr iage should be located at the
center of the carr iaqe tubes.

Figure 7

elevat ion rack whi le f i rmly holding the lower
counterbalance assembly ( i tem 61) unt i l  the
gears ( i tem 55) disengage f  rom the rack.

4.  Hold the carr iage in both hands and l i f t  unt i l
the carr iage r ides the track evenly;  that is,  so
the gears are evenly engaged on the racks.

5.  Push up motor switch so carr iage r ides up.
6. Place a tr iangle or carpenter 's square in con-

tact with the baseboard and the lef t  and r ight
s ides of  the lower counterbalance assembly to
make sure the counterbalance assemblv is
paral lel  to the baseboard.

7. Re-attach lower stop pin.

l f  the carr iage appears to be paral lel  to the base-
board at  low magnif icat ion and not at  h igh, i t  may



be necessary to adjust the rear support  struts.
Facing the enlarger,  i f  the r ight  s ide of  the carr iage
assembly is lower than the lef t ,  adjust the lef t  strut
as fol lows:

1. Remove the two screws f  rom the foot of  the
strut  ( i tem 158) and turn the foot ( i tem 157)
clockwise at  least  one ful l  turn.

2.  Check the al ignment.  l f  addi t ional  adjustment
is required, turn the foot once more.

3. Re-insert  and t ighten screws.

CAUTION: l f  the struts are adjusted unevenly,  a
"twist ing" of the ent ire f  rame assembly may result .
This wi l l  cause uneven operat ion of the carr iage
assembly in the elevat ion racks and this might
eventual ly wear out the gear racks and/or the
elevat ion motor.

l f  the lef t  s ide of the carr iage assembly is lower than
the r ight ,  adjust  the r ight  strut  in the same manner as
described above.

B. Distortion Control Assembly Alignment
Each t ime you use the distort ion control  assembly
and wish to return to perpendicular for  normal pr int-
ing, the negat ive stage must be real igned:

1.  Do not t ighten the pivot  and locking bol ts af ter
you have pivoted the enlarger head back to i ts
vert ical  posi t ion.

2. Open the negat ive stage and insert  a piece of
glass or other absolutely f lat  materal  large
enough to overhang the sides of the negat ive
stage. Close the negat ive stage.

3. Lower the enlarger unt i l  the negat ive stage is
approximately 24 inches above the baseboard'

4. Use a straightedge or carpender 's square at
least 24 inches long to measure the distance of
the lef t  and r ight s ides of the negat ive stage
from the baseboard (Figure 8).

5.  Pivot  the enlarger head on the distort ion con-
trol  assembly unt i l  the distance from the r ight
side of the negat ive stage to the baseboard is
the same as the lef t .

6.  Tighten the locking and pivot  bol ts.

C. Lens Stage Adiustment
When the lens stage is in the "zero" or centered
posi t ion,  the lef t  and r ight  s ides should be an equal
distance from the baseboard, as measured with a
straightedge, carpenter 's square or tr iangle'  l f  they
are not,  fol low the Procedure below:

1. Loosen the two slotted lens stage screws and
pivot the lens stage unt i l  the lef t  and r ight s ides
are equal distances from the baseboard.

2. Tighten the screws.

D. Counterbalance Spring Adiustment
l f  the elevat ion motor stal ls at  the top or bottom of
i ts t ravel ,  the counterbalance spr ing tension must
be adjusted. NOTE: Al l  adjustments are performed
on the lef t  s ide of the enlarger,  facing the front.

1.  Loosen, but do not remove, clamp screw ( i tem
169) at rear of lower tube.

2. Firmly grasp lower tube in r ight hand and re-
move screw ( i tem 170) from front of  tube.
NOTE: There wi l l  be considerable counter-
c lockwise spr ing act ion in the tube.

3.  l f  the enlarger runs upward too slowly,  increase
the counterbalance tension by rotat ing the
lower tube counterclockwise at least two com-
plete revolut ions, and re- insert  screw.

q. i t  tne enlarger runs downward too slowly in the
last four to f ive inches of t ravel,  decrease
counterbalance spring tension by rotat ing
lower tube one revolut ion in a c lockwise direc-
t ion,  and re- insert  locking screw.

5.  Make sure locking screw is in place and the
tube clamping screw ist ightened before check-
ing for proper motor oPerat ion.

Figure I



VII .  MAINTENANCE
The Beseler 45MX l l  enlarger is designed for ef-
f ic ient ,  re l iable operat ion wi th minimal mainten-
ance. The only two regular maintenance operat ions
that may need to be performed are changing lamps
and keeping the opt ical  elements free of dust.

A. Lamp Changing Procedure
1. Make sure lamphouse cord is disconnected

from i ts power supply.
2. Al low the lamp cap and burned out lamp to cool

before attempting to change lamp.
3. Loosen lamp cap knob and l i f t  lamp cap as-

sembly clear of lamphouse.
4. Unscrew lamp and replace with Beselercatalog

#8100 (PH212).
5. Reinstal l  lamp cap, t ighten knob and reconnect

lamphouse cord to power supply.

B. Cleaning Optical Elements
The heavy-duty Pl iof i lm dust cover (catalog #8129)
for the 45MX l l  wi l l  help keep your enlarger f  ree of
dust.  Should the condenser lenses require clean-
ing, fol low the procedure below:

1. First  use a blower brush, f i l tered compressed
air  or a cloth such as the Color by Beseler Ant i-
Static Cloth (catalog #8956) to clean off any

45MX il  ACCESSORTES
DICHRO 45 COLOR COMPUTER (Catalog #8282)
A truly versat i le and unique colorhead. The Dichro
45 is a sol id state, microprocessor-based, dichroic
colorhead incorporat ing a sel f-contained stabi l ized
power supply and cool ing system. l t  represents the
latest  technology appl ied to color pr int ing.  With
selected accessories, the Dichro 45 can be used for
di f f  usion or condenser pr int ing for  formats ranging
from sub-miniature to 4" x 5" negat ives.

NEGATRANS@
The Beseler Negatrans is a patented carr ier that
effort lessly transports f i lm in rol l ,  str ip or s ingle
frame format into and out of your 45MX l l  enlarger.
Once the Negatrans is inserted into the negat ive
stage, i t  need not be removed nor the stage opened
to insert ,  advance or remove a negat ive.

Negatrans model 8332 accommodates 35mm nega-
tives, and model 8333 handles 2t/4 x 2s/4 and 2t/4 x
2t/o negatives.

COLOR PRINTING FILTER SET (Catalog #8933)
Color by Beseler six- inch square f i l ters can be
readi ly t r immed to easi ly s l ip into the f  i l ter  holder of
the 45MX l l  enlarger.  The complete set of  24 f i l ters
covers f i l t rat ion ranges of 2.5 to 157.5 in cyan,
magenta and yel low. An ul tra-violet  f i l ter and two 50
red f i l ters are included. The f i l ters are made of
Mylaro and are highly resistant to heat,  facing and
scratches.

2-STEP COLOR CHEMISTRY (Catalog #8940)
Only two solut ions -  no pre-wet or intermediate

surface dust.
2.  l f  the lenses are st i l l  d ir ty,  they should be re-

moved and careful ly c leaned. NOTE: The con-
denser lenses are del icate and should be re-
moved only when absolutely necessary.

3. Loosen the three lamphouse screws ( i tem 2 on
exploded view) and remove lamphouse from
condenser assembly.

4. Remove the three Phi l l ips head screws ( i tem
13) located around the top perimeter of the
condenser.  Place aside screws, spacers and
nuts.

5. Hold the heat absorber glass in place and care-
ful ly turn the condenser assembly on i ts side,
al lowing the heat absorber to slowly sl ide from
the cast ing.

6. Li f t  out the spacer r ing and the upper con-
denser lens.

7. There is no need to remove the lower con-
denser,  as al l  surfaces are now accessible for
cleaning with lens t issue or ant i -stat ic cloth.

8. Reassemble by reversing the procedure.

NOTE: The upper and lower condensers are not
interchangeable.

wash - enable you to make beaut i f  ul  color pr ints in
just two minutes. The 2-Step Chemistry can be
used at any temperature from 66'  to 107o, is re-
useable (up to four uses) and is very economical.

CN2 COLOR NEGATIVE CHEMISTRY
(Catalog #8994)
Specif ical ly designed for home processing in con-
vent ional dayl ight tanks, CN2 chemistry can
process your Kodacolor@_ l l ,  Vericoloro l l ,  Fuj i -
color@ l l ,  EK 5247 or other C-41 compatible f i lms.
I t  works at  75o,85o or 100oF. in only three pro-
cessing steps. One-half  l i t re can handle six rol ls of
36 exposure 35mm f i lm.

3-STEP COLOR CHEMISTRY (Catalog #8990)
A new process, especial ly formulated for use with
Kodak Ektachrome@ 2203 RC color paper for
making pr ints from color sl ides. 3-Step re-
quires less str ingent temperature control  than other
2203 processes, and no internegatives.

EO COLOR SLIDE CHEMISTRY (Catalog #8997)
EO is used to process al l  Ektachrome@ E6 and
simi lar colortransparencies. The process includes a
chemical reversal bath that el iminates the need to
remove the f i lm from the reel dur ing processing.
The E6 can do up to eight rol ls of  36 exposure 35mm
fi lm.

Ektachrome, Kodacolor and Vericolor are registered trademarks of the Eastman
Kodak Co.
Fujicolor is a registered trademark of Fuji Photo Film Co., lnc.
Negatrans and Resistrol are reg istered trademarks of Beseler Photo lvlarketing Co., Inc.



EXPLODED VIEW
4sMX ll

LI

Bt
Pi
e)
to
sl
pr

TI
st
al
ot
td

Br

Br
ol
ol
ol
pl
B
th
al
dt

U
n
T
5
al
rT

N
t62

/^6'v
_-163

5l , tAq
ca
J4\d a-

=.-''..--r64

-=\t65

\aP,re
54'^{.o)-

c

S
rr

P
in

'@

I
55

157-- ' '

tc
i l t . l l?

i l2r  \ \

rre=-113*

'i:-------.------"7r)>rUt
,','2:&'
120/

t27-

E
d

n1

A
8

P

E
T
el
N

16li\\------\

l6o-. t -  
. -

rR(



4\' i  a1
1- \
to \  \

47 \ \ - r

-\O--2

\44

.--@ I
la01lv)

5-17) /  |  rJ
\_:/ ,/ | \n-O/'  (  ' ;

^
*@Cj>-
,----.Nq@,Ngi.

1r7-\ -'

fulZ,o

r3

/2:,.>\
<:?-o

@-'
,Z;--:.r'--lO

j(.q

w:
-\,n "

t7

I8

( \b'r
4A\

3l

ff-"

67

6l
69

) ' to

'58

'7 9/

, tQq

d

n
lt|/77
/r l
l i l  o_-78

,,{/{;w-BB,d

,,,,."!'o,(,J;' r"rgffi ;.t (),,,,i;,*:"[:,^,tW|",,,#r
o.--  135
e _t j ;

10



Ref.
No.
61

Rel.
No.

1
2

4

6
7

8
I

10
t l

12

13

1A

15

PARTS LIST - 45MX II
0escriplion Part l{0.

Lamp Cap Assembly. . . . . . . .  10-04506
Thumb Screw . . .  .  .  568-20-05

Description Part No'

Lower Counterbalance

Bel.
l{0. 0escription Part l{0.

118 Bear ino .  . .  10-11017
119 Screw,-Machine - #8-32 x lz"

Long Pan Phi l l ips
FocusingKnob.. .  .  568-05-07
Cartr idg-e -  Locking . .  . .  .  . .  10-04645
FocusingShaft . . .  . .10-04551
Lens Stage Carr iage. .  .  . .  10-04576-01
Spacel ,  Locking Lens

Staqe .
Washer -  #108, %" 0.D. x .032"
Knob.. .  . .568-20-07
Fi l ter  -  Red Salety . . . .Cat.  No. 8040
Spring .  . . .  10-04543
Rbtainer -  Rear . . .  10-04542
Screw, Tapp - #4BT x1h"

Long Pan Phi l l iPs

Retainer *  Front.  . .  10-44056
Lensboard -  Blank . . . . .  See Catalog
Spacer -  Fi l ter  Holder . . . . .  10-43736
Sbrew - Shoulder 540-30-55
Bow Washer -  17 164" l .D.

9/16" 0.D. x 1/16"
136 Holder -  Safe Fi l ter . . .  . . . . .  10-42040
137 Screw, Machine -  #8-32 x 5/16"

Lono Pan Phi l l iPs
138 Fi l ter  Flolder Ass'v.  .10-43734
139 Lockwasher - #8 Lock Tooth
140 Cap Nut - #8-32
141 Cao Nut - #r/-20
142 Lockwasher -  #1la
143 Bal l  Retaining Spr ing . . .  . .  .  .  10-04608
144 LensStaqe..  . . . . . .10-44052
145 Screw, Machine - #6-32 x Ia"

120
121
12?
123
124

125
126
127
128
129
130

131
*132
133
134
135

146
147
148
149

150
IJI

152
IJJ

154

t33

lJo

157
158

159
160

21
22
23
24

25
26

27
28
29
30

31

32
33

35
36
37
38

Lamp PH212
(150 watts)

Lamphouse Assembly .
Heat Absorber Glass.  .  .
Spacer Ring . .  .  .  . .  555-20-16
Condenser Housing

Assembly . . . . . . .10-04760
Condenser-Top. 680-14-54
Separator -  Condenser . . . .  10-04769
Condenser -  Bottom . . . . . .  680-14-53
Nut -  Tinnerman #8 . . . . . .  555-01-08
Pad -  Condenser

Retaining 10-04536
Screw, Tapp - #68 x lz"

Lono Flat  Head Phi l l ips
Cover i  Hinge Assembiy. . . .  10-04763
Screw, Tap - #68 x th"

Long Pan Phi l l iPs
16 l iousing -  Condenser. . . . . .  10-04761
17 Fi l ter  Support  . . . . .  680-86-04
18 Fi l terHolder.  . . . . . .10-04775
19 Indicating Pointer . . 10-04563
20 Screw, Tapp -  #4B x 3/16"

Long Pan Phi l l ips
Screw-- Shoulder 540-30-12
LatchSorino . . . . . . .10-04562
Latch (Pair) : . .  10-04561-01 (R),  -02 (L)
Condenser Support

Stage..  . . . . . .  10-04540-01
MotorRear Cover . .  10-04599
Motor & Terminals,

115V.. .  . . . . . .10-04669-10
Smal l  Pul ley . . . . . . .10-04581
Belt . . . .  . .562-36-01
LargePul ley . . . . . . .  10-15192
Motor Cover AssemblY

(115 V.)  . . . . . .  10-04745-50
Screw, Machine * #6-32 x th"

Long Pan Phi l l iPs
MotorSwitch . . . . .  610-10-14
Bracket Assembly - Left .. . 10-04550
Screw, Machine - #8-32 x5la"

Long Flat  Phi l l ips

Gear Box . .10'04577
Bushing Retainer . .  .  10-04594
ClampCol lar  . . .  10-04590-03
Screw, Machin e - #8-32 x 3la"

Long Pan Phi l l iPs
WormGear . . . . . . .562-11-53
Worm..  . .  562-11-05
Motor Mount ing Bracket .  .  . .  10-04559
Spacer -  Bar . . .  . .  10-31368
Spacer*Pivot . .  . .10-31369
Biacket .. . 10-04579
Knob.. .  . .568-20-06
Washer -  #108, 7/16'  0.D. x 1132"
Screw, Machine -  #3/8-16 x 3"

Long Hex Cap
Enlargir  Head Carr iage .  .  . .  .  10-04535
Uppei Tube 10-04583
Washer -  1/a" Nom.,  %" 0.0.  x 1/16"
Wheel. .  . . .10-04592
Shoulder Screw .  . .  540-30-30
Side Wheel 10-04586
Shoulder Screw .  . .  540-30-18
Spur Gear 562-03-11
Roll Pin .. 553-09-30
Wheel. .  . . .10-04592
Washer -25164" 1.0. ,

% 0.D. x .015"

Assembly . . . . . . .10-04565
62 Adjust ing Screw Assembly . .  10-04567
63 Nut - th-20 Hex
64 Screw, Machine - #10-32 x 3/e"

Long Pan Phi l l iPs
65 Lockwasher -  #10
66 Washer -  #114'  | .D.,3/a" 0.D. x 1/16"
67 Bracket - Interlock 10-31367
68 Lockwasher * 1/"
69 Screw, Machine -  #6-32 x 9/16"

Long Pan Phi l l iPs
70 Screw, Machine -#1h-20x31a"

Lono Hex
71 Stage Mount ing Bar 10-31366
72 Soacer - Rack . 10-04668-01
73 Rack -  Lens Focus .  .  .  .  . .  . .  10-04572
74 Screw, Machine - 11120 x 111n"

Lono Flat  Hd. Slot ted
75 Upper-Negative Stage

Assembly . . . . . . .10-04514
76 Upper Bel lows Assembly. . . .  10-04655
77 Nehat ive Size lndicator .  .  . .  .  10-04564
78 Screw, TapP - #48 x 1k"

Lono Pan Phi l l iPs
79 Upper-Negat ive Stage .  . .  . .  .  10-04532
80 Gear. . . . . . . .  . . . . .562-03-05
81 Knob - Locking .. 568-20-06
82 Bear ing, Sl ide. . .  . . .  10-11017
83 Plate,  Spr ing Backup . . . . . . .  10-08118
84 Stud.. . . . . . .  . . .10-04613-02
85 Screw, Machine - #8-32xlz'

Long Pan Phi l l iPs
86 Knob.- .  . . .  568-05-07
87 Shaft  . . . . .10-04560

.88 Neoat ive Carr ier  . . . . . . . .See Catalog
89 Spiins - Stase (Right) . . 592,70-?q
90 Siud.. . . . . . .  . . .10-04613-02
91 Screw, Machine - #4-40 x 1lt"

Lg. Fi l l .  Slot ted Hd.
92 Plat-e,  Spr ing Backup . . . . . . .  10-08118
93 Bear ing.. . . . . . .  . . .10-11017
94 Bracket -  Lever Hinge . . . . .  10-04610
95 Bear inq . . .  10-11017
96 Plate -  Spr ing Backup . .  .  .  .  10-08118
97 Nut - #4-40 Hex
98 Screw. Machine -#4-40x1h"

Long Pan Phi l l iPs
Bal l  -  5/16 Dia.  . .  .  . .  . . .  .  .  562-80-02
Wear Plate -  Lens Ti l t  . . . . .10-04609
Washer -  #12A,31" 0.D. x 1/16"
Washer -  Fiber 25164" LD ,

3/a" 0.D. x 1/16"
Lower Bel lows Ass'y. . . . . . . .  10-04656
Lower Negat ive Stage . .  . .  . .  10-04533
Baseboard . 10-04740
Screw, Machine -  th '20 x 1"

Lonq Flat  Phi l l iPs
Anole -Assemblv (SPeci lv R. H.

o"r t-.  H.t. .  . .  .  to-bazss-O1 (L) -02 (R)
Screw, Machine - th-20 x 1lz"

Lonq Truss Phi l l iPs
Screwl Machin e - #10-32 x 1 tq"

Long Truss Phi l l iPs
Foot -  Frame Support  . . . . .  10-04625
Screw, Machine -  #10-32 x 5i  16"

Long Rnd. Phi l l iPs
Rod -  Frame Support  . .  .  . .  .  10-04741
Screw, Machine - 10-32 x lz"

.Cat.  N0.8100

.. . . .10-04507

. Cat. No. 8077

39
40
A1
al

42
43
4q
AE

46
47

48
49
50
3l

52
53

55
56

58

99
100
101
102
103

104
105
106
107
108
109

Long Fi l l is ter  Slot
Spr ing -  Stage (Left)  . . . . .  562'70-21
Stud . .  .  10-04613-02
Stage 0pening Lever . . . . . . .  10-04611
Knob. .  .
Screw, Machine -  #4'40 x th"

Long Fi l l is ter  Slot
Nut - #4-40 Hex
Plate -  Spr ing Backup . . . . .  10-08118
Bearing . . . . . . . .  . .  .  10-11017
Shalt  -  Lens Ti l t  . .  10-04574
Washer -25164" 1.0. ,  %" 0.D x 1/16"
Bow Washer *  25164'  LD.,  %" 0.D.

x 3132"
110 Lockwasher -  1 la
111 Nut -  th-20 Hex
112 Bow Washer -  21164" | .D.,

9/16" 0.D. x %"
113 Gear . . . . .  562-03-05
114 Rol l  Pin . .  . .  .  . .  .  .  .  553-09-62
115 Plate,  Spr ing Backup . . . . . . .  10-08118
116 Screw, Machine -  #4'40 x 'h"

Lg. Fi l l .  Hd. Slot ted
117 Nut -  #4-40 Hex

Long Truss Phi l l iPs
161 Frame . . . .  10-04734

.162 Vol tmeter . . . . . . . . . . . . .Cat.  No. 8111

.163 Resistrol  . . . . . .Cat.  N0.8110
164 StopPin. . . . .  . . . . . .10-04628
.165 Elevat ing Scale .  .  .  . .  . .  .  Cat.  No 8093
166 Carr iage Elevat ing Rack . . . .  10-04624
167 Screw. Machine -  6-32 x re"

Long Truss Phi l l iPs
168 Base AssemblY . . . .10'04729
169 Screw, Machine -  8-32 x %"

Lonq Pan Phi l l iPs
170 Screwl Machine - 10-32 x 11"

Long Pan Phi l l iPs

59 Bear ing . .  560-40-14
60 Col lar  & Bracket AssemblY -

Right . .  .  10-04556

Items with0ut part  numbers are c0mm0n hardware avai lable local ly

.Accessortes avai lable f rom vour Beseler dealer.



i

LIMITED ONE YEAR WARRANTY

Beseler Photo Market ing Company, Inc. ,  Florham
Park, New Jersey warrants i ts products (with the
except ion of lamps),  to the or iginal  purchaser only,
to be free from defects in mater ials and workman-
ship for a period of one (1) year from the date of
purchase.

This Warranty does not apply to our products which
show evidence of accidental  damage, misuse or
abuse by you. The Warranty also does not apply to
our products which are defect ive or damaged by
tampering or attempted repair  by an unauthorized
Beseler agent.

Beseler exclusively l imi ts th is Warranty to repair
or replace (at Beseler 's opt ion) the defect ive part
of i ts product.  l f  you decide to send our product to
our authorized repair  out let ,  you must insure the
product and prepay al l  t ransportat ion expenses.
Beseler wi l l  not  be l iable for  damages caused in
the course of  shipping the product to you. You must
al low at least s ix (6) weeks for correct ion of the
defect.

ANY IMPLIED WARRANTIES OF FITNESS FOR
USE, OR MERCHANTABILITY, THAT MAY BE
CREATED BY OPERATION OF LAW ARE LIMITED
TO THE ONE (1) YEAR WARRANTY PERIOD.
Some states do not al low l imi tat ions on how long
an impl ied warranty lasts,  so the above l imitat ion
may not apply to you.

NO LIABILITY IS ASSUMED FOR EXPENSES OR

DAMAGES RESULTING FROM INTERRUPTION IN
OPERATION OF EQUIPMENT, DAMAGE TO FILM
OR PAPER, OR FOR INCIDENTAL, DIRECT OR
CONSEQUENTIAL DAMAGES OF ANY NATURE.

Some states do not al low the exclusion or l imita-
t ion of incidental  or consequent ial  damages, so the
above l imi tat ion or exclusion may not apply to you.

In the event there is any defect in mater ials and
workmanship of our product you may contact our
Customer Service Department at Beseler Photo
Market ing Company, Inc. ,  8 Fernwood Road,
Florham Park, New Jersey 07932. This Warranty
gives you specif ic legal r ights,  and you may also
have other r ights which vary from state to state.
You may also have impl ied warranty r ights.  ln the
event of a problem with warranty service or per-
formance, you may be able to go to a Smal l  Claims
Court,  a State Court ,  or a Federal  Distr ict  Court .

IMPORTANT:

THIS WARRANTY SHALL NOT BE VALID AND
BESELER SHALL NOT BE BOUND BY THIS
WARRANTY IF OUR PRODUCT IS NOT OPER-
ATED IN ACCORDANCE WITH BESELER'S
WRITTEN INSTRUCTIONS.

You must prove the date of purchase by producing
a sales receipt indicat ing that you are the or iginal
ourcnaser.

IMPORTANT! KEEP THIS INFORMATION HANDY
FOR FUTURE REFERENCE

KEEP YOUR SALES RECEIPT!

SERVICE INFORMATION:
Should you need service for  your BESELER photographic equip-
ment after the warranty has expired, please fol low these steps:

PACK the product in the original packaging material to protect i t
in t ransi t .

ENCLOSE complete informat ion showing your name and ad-
dress,  what is wrong with the equipment,  and the return shipping
address. Tape the informat ion to the equipment to be sure i t  does
not get thrown out wi th the packing mater ia l .

ADDRESS the package to BESELER SERVICE MANAGER,
8 Fernwood Road, Florham Park, NJ 07932.

PREPAY FREIGHT CHARGE AND INSURE the package against
damage or loss in t ransi t .

ESTIMATES. We wi l l  g ladly provide est imates upon request.
There is a f lat  est imate charge of  $7.50 payable in advance. The
estimate charge wil l  be credited towards the cost of the repair.
No work wi l l  be undertaken or bi l led unt i l  wr i t ten aooroval  of  the

estimate is received.

CHARGES. Your local Beseler dealer has a l ist of current price
ranges to service Beseler photographic equipment.  Any repair
l ikely to exceed the maximum recommended service pr ice wi l l
be estimated and held for your approval before work is begun.

PAYMENT. Your check for $7.50 must accompany your request
for an estimate; alternatively, you may charge your VISA or
MASTER CHARGE account.  Repairs must be paid in fu l l  pr ior to
return to owner. Personal checks or VISA/MASTER CHARGE
accepted. ( l f  you pay by VISA or MASTER CHARGE, please give
the account number and expirat ion date.)

OBSOLETE EQUIPMENT. Beseler reserves the r ight to refuse
to repair  equipment that  has been discont inued for f ive (5) years.

IN-WARRANTY SERVICE. There is no charge for service per-
formed dur ing the warranty per iod.  PROOF OF PURCHASE is
required for warranty service and must be enclosed with the
return. Terms of the warranty are explained above.

=BESETEFI
BESELER PHOTO MARKETING CO.. INC..
8 FERNWOOD RD., FLORHAM PARK, N.J. 07932

s90-01-29/1-80 2MlCPl


